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30,000,000& = 14! 30,000
— Al ZZ ) 24,000,000 = 1A! 24,000
02 B32%H| 93,255 108,009 N 14,754
OFital SAEEEE 2,200,000 1 2,200
OCHWEEHOAHA 22 55,000& x12& 660
OQHYZ=A SE2(HH) 1,700,000& =1 1,700
OXES0ISEHO0IX KX 22
7,000,000 x1 7,000
OFEAAAEH S K22 81,695
—SIEANH (A, AECIX)
381,929,000 x7%*1. 1 29,409
—ATZEYODB,MNEAN, B0 &)
475,324,350 x10%=*1. 1 52,286
202 04| 7,000 7,000 0




SN BEIE D
M AN ML
Sl BEs 29 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 2L Hl 7,000 7,000 0
OXFESHN g2FX 20,000& *»3H *100 6,000
OXES0IE g2=d 20,0003 23 x5 1,000
403 XX SHHS K20 ™ 82,190 75,899 6,291
02 BII2SOHCHSCHE AFS HI 82,190 75,899 6,291
OAZF Sl AlAE S22 69,568
OANZIRMHERAAL (ZEH]) S22 AlZ
23 5,622
OXSHBZSHBEANAL HHAHAR 2
AN2Edga 7,000
SESHQ HE3 DBt = 98,000 693,800 A 595,800
405 XHoHFE S HI 98,000 613,800 A 515,800
01 XA 2B F S| 98,000 613,800 A 515,800
OU2ls AF2212] 1,400, 000& x70CH 98,000
ANZ232 MlE2AH 25 2lAS 26,526 26,526 0
= 3,544
= 22,982
201 et d| 15,601 15,601 0
2 3,544
= 12,057
01 A2t 2| H| 15,601 15,601 0
OANZF MalE2MHA 2=(2 ZH|) elAa2 15,601
2 3,544
= 12,057
308 XHXIGHSOIA 10,925 10,925 0
07 AXSHHZ2ES S 10,925 10,925 0
OANZF Mal=E2MHA 2E(= &H]) clAa2 10,925
AN ZED|BAIAE S WX & 80t 39,261 24,840 14,421
23t
= 8,520
= 30,741
201 B9 39,261 24,840 14,421
= 8,520
= 30,741
01 AP 22| H| 39,261 24,840 14,421
OANZF Z2EJIEtAAY SSAY WM & &
BsHEot A5 2lAaE 39,261
= 8,520
= 30,741
dE250I2 |4 40,748 44162 N3,414
= 9,144
== 9,144
= 22,460
dEs0l2 89 7,700 7,700 0




PN HEX D
Bu: oWy Y2
o2l 3230t '4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 2,000 2,000 0
03 &AL2 I 2,000 2,000 0
OZEs0IE &AL =& 2,000
301 et A= 5,700 5,700 0
09 EHALMHIZB &S 5,700 5,700 0
OZEs0IS &AL & 3o HAE4 4,500
—AHAHEH(==2) #A
50,0003 <12 «3 1,800
— &850t =M &0t 50,000& x10% 3 1,500
JE30tS 2 ASEHA 2 u=s
50,000 *4H » 12 63| 1,200
O=x8 F=2su=E ZA=
30,000 4 Al 2+ x52 %23 1,200
HPs0e TRIBAN HWEX 33,048 33,662 ~614
2 9,144
= 9,144
e 14,760
307 glz2+ol & 33,048 33,662 AB14
2 9,144
< 9,144
e 14,760
02 HAFHAANGFEX 33,048 33,662 AB14
O&Es0le Z20d8 2l s4X&
16,524,000 20 A 33,048
2 9,144
< 9,144
[ia 14,760
FE2SHEY 178,290 163,648 14,642
HBSAAL 22 178,290 163,648 14,642
201 Let24E] 153,558 138,916 14,642
01 At 2t 2l 3,640 3,640 0
OXJdsHs+=8 M 2,800& x1,300% 3,640
02 232gHl 149,918 135,276 14,642
Os32= 87,761
—2EtE S I (123 4) 300,000& x12& 3,600
—0IsdEs23((Bad) 90,0003 «5CH 12 5,400
—HoleE 83823 (22012)
6,044,990& 123 72,540
— N8 MEIHRS(25MHL)
518,370 128 6,221
OFEEMANER I 22 62,157
—HHE WAL A2
260,230,900& *7%* 1.1 20,038




SN BEXADY
B 8y M
el HEEARY (sl &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
— A ERAIANE SX 22|
378,187,000 x7%*1 .1 29,121
—dHAMAEE ASFAAE A2
129,839,000 *7%*1.1 9,998
— QIR BAIE RX2el 1,500,0008 *13] 1,500
— SESSIAlA S22 1,500,000 13| 1,500
308 XX G M SOl A 24,732 24,732 0
07 NIXSHH2ESSZ2 24,732 24,732 0
OE-22 2INEESHY s 2=
24,732,000 =14 24,732
HESA S#3X 4 445,970 32,608 413,362
SEH0 HEBSAI|E 25 64,000 0 64,000
401 Al HI L 204 HI 10,000 0 10,000
LT 10,000 0 10,000
OFFH JUSAAE DA
10,000, 000& *1JH 2 10,000
405 XHAHFE S HI 54,000 0 54,000
01 XAt 2 ZF S| 54,000 0 54,000
OUARX OlEst 2= 27,000,000 =2CH 54,000
SW DISsesAlE = 360,000 0 360,000
402 BI2H X 20| M 360,000 0 360,000
01 QIZEXIE2AIE 2 X 360,000 0 360,000
O=SU DISYsAlE 25
15,000,000 *300 OF=*80% 360,000
SHEXNSYS Z2HAEIL Y 25 9,370 11,250 A 1,880
308 AMXIESHMSOIA 9,370 11,250 A 1,880
07 RXSHLRE S 9,370 11,250 A 1,880
OsHEXY eI ia 2= 242 9,370
22 20lool = 12,600 15,858 N 3,258
308 XX G SO0l A 12,600 15,858 N 3,258
07 NXSHHZ2ESZS 12,600 15,858 N 3,258
22 20/O0l 5 2¢2 12,600
HMSHAY| (HEXKD) 1,611,235 1,460,823 150,412
ol =2dH| 1,518,964 1,370,175 148,789
ol =AY 1,518,964 1,370,175 148,789
101 124 H] 30,000 13,000 17,000
03 RIAHL*ZZXHE 30,000 13,000 17,000
ORJHLZ2Z X S2AHE A 22 30,000
303 ZAZ2 1,488,964 1,357,175 131,789
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